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FINANCIAL MANAGEMENT — GENERAL
Ninth Paper
Group : (A-33-G)
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Group - A

Answer any four questions 5x4

What do you mean by “Time Value of Money”?
What is “Annuity”?
Or

What is “Effective rate of interest?

What do you mean by “Negative Working Capital”?
Or

What is “Seasonal Working Capital”?

What is “Working Capital Cycle”?

State two objectives of capital expenditure decisions.
Or

How will you take accept-reject decision under ‘Accounting Rate of Return (ARR)’ method in case
of mutually exclusive projects?

Mention two advantages of Pay Back Period (PBP) method.
What do you mean by “Internal Rate of Return”?
What is “Capital Rationing™?

Or

State two points of difference between ‘Net Present Value’ (NPV) method and ‘Internal Rate of
Return’ method.

What is “Dividend”?

State two assumptions of Gordon’s Model.
Or

What is “Final Dividend”?

Group - B

Answer any two questions 10x2

. Mr. P. K. Das deposits X 4,000, T 6,000, ¥ 3,000, ¥ 2,000 and X 5,000 at the end of Ist, 2nd, 3rd, 4th

and 5th year respectively. The deposit earns a compound interest of 8% p.a. Calculate the future value
of the deposit at the end of 5th year.

Given FVIFg; = 1.08, FVIFg, = 1.166, FVIFg 3 = 1.260, FVIFg 4 = 1.360. 10
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Or
Write short notes :
(a) Bonus Share
(b) Debentures 5+5
3. (a) What is “Gross Working Capital”?
(b) What do you mean by “Permanent Working Capital”? 4+6
Or
From the following particulars, compute the duration of the Operating Cycle : 10
Particulars Amount ()
Average Stock of Raw Materials 75,000
Average Stock of Work-in-Progress (WIP) 54,000
Average Stock of Finished Goods 70,000
Average Debtors 75,000
Average Creditors 60,000
Raw Materials Consumed 4,50,000
Cost of Production 5,40,000
Cost of Goods Sold 7,20,000
Annual Credit Sales 9,00,000
Annual Credit Purchases 4,880,000

4. A project requires a machine costing T 5,00,000. The estimated working life of the machine is 5 years
and its scrap value will be ¥ 1,00,000 after 5 years. The expected annual profits including depreciation
and taxes from the project for the next 5 years are ¥ 75,000, ¥ 1,75,000, ¥ 2,00,000, T 2,00,000 and
¥ 50,000 respectively. If the tax rate is 50% and depreciation is charged under fixed instalment method
calculate the Accounting Rate of Return (ARR) of the project. 10

5. (a) State two advantages of ‘Internal Rate of Return’ (IRR) method.

(b) Mention two disadvantages of ‘Discounted Payback Period’ (DPBP) method.

c) What is “Profitability Index (P.I.)” method? 4+3+3
(c) y

6. (a) What do you mean by “Interim Dividend™?
(b) State four assumptions of Modigliani-Miller (MM) model of Dividend. 4+6
Or

Calculate the prevailing market price of a share using Walter’s Model from the following information:

Dividend per share : ¥ 4, Earnings per share : ¥ 5, Internal rate of return : 10% and Cost of
capital : 8%. 10
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Group - C
Answer any two questions 30x2
(a) State four points of difference between profit maximization objective and value maximization
objective of a firm.

(b) Explain the role of Chief Financial Officer. 12+18

(a) From the following particulars, compute the cost of retained earnings :
Return available to equity shareholders = 10%, Tax Rate = 30% and Brokerage = 2%.

(b) A company’s share is currenty quoted in the market at ¥ 20. The company pays a dividend of ¥ 2
per share and the investors expect a growth rate of 5% per year. Calculate cost of equity share
capital of the company.

(c) What is the rationale behind the use of after-tax weighted average cost of capital? 12+12+6
Or

Write short notes on any two :

(a) Ploughing back of profit as a source of financing

(b) Advantages of “Public Deposit”

(c) Differences between financial lease and operating lease

(d) Cash credit 15+15

. (a) Find operating leverage from the following particulars :

Sales = % 50,000, Variable Cost = 60% of sales, Fixed Cost = ¥ 12,000

(b) DCL (Degree of Combined Leverage) = 2.5, DOL (Degree of Operating Leverage) = 1.25. Compute
DFL (Degree of Financial Leverage).

(c) What do you mean by “Optimum Capital Structure”?
(d) State two assumptions of Net Income Approach of Capital Structure Theory. 12+6+6+6

Write short notes on :
(a) Matching Policy of financing current assets

(b) Aggressive Policy of financing current assets 15+15
Or

(a) State the recommendations of the Tandon Committee with regard to bank financing.
(b) What is EOQ?
(c) What is VED Analysis? 15+6+9
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11. (a) Explain the concept of “Financial Control”.

(b) Mention the advantages and limitations of financial control system. 6+12+12

Or
Write short notes on :
(a) Advantages of “Ratio Analysis” as a tool of financial control

(b) “Budgetary Control System” and its steps. 15+15




